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Sequences

Find the first S terms of the following sequences:
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Arithmetic Sequences

Ex:2,5,8,11, 14

e The difference between each term is constant.

 In the sequence 2, 5, 8, 11, 14. the difference between each term is 3.
e The difference i1s called "d". d=1,-1,

e The first term 1s called "a" or "t,".

e The second term is called "t,".

e The last term or an indicated term is called "'t,". (3606( O\\ Jrf( ‘“3
 The position of a term or the number of terms is called '"n"'.



Arithmetic Sequences

To find any given term in an arithmetic sequence we use
the following formula:
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Example I.

Find the indicated term of the following sequence

a=0 d=1,-1,

2,4,6.. =_'-$-B
n=" =50
[, =3+Q-1)9 lio=9+(50-)3
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We can also determine the number of terms in the
sequence.

[ =a+n-1)d
Example II.

How many terms are in the following sequences?
(Solve for "n")

1,3,5,.. 71 = +(n(-®'3

x, x+3, x+6,... ,x+33
Q= X X‘\'zﬁ = X‘\‘(&

d =3 X-\-E%&’S
ta= X“‘SS ?f)%
N="72 36="3n
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Find "a", ""d", and "t," for the following sequence

'La = Q-\-@-M ‘L;= O+ (%-I}‘
‘\:5 = o+ 15 a+Td
[Q\LLM:\G a+7é=35\ XD Systemy

oxrdd=\6 a+ld=\6 tn= ou-(n—Dd
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Homework
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